Jasmine has eight daisies and three vases - one large, one medium-sized and one small. She puts 5 daisies in the large vase, 2 in the medium vase and 1 in the small vase. 

Can you find another way to put daisies so that there are the most in the large vase and least in the small vase?
Try to find as many ways as you can put the daisies in the vases with the most in the large vase and the least in the smallest vase. If you think you have found them all, explain how you know those are all the possibilities.
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